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1) TRADE THEORY
Question No. 1/ Question ID 330 Marks: 2.00
Which method of earth resistance measurement is illustrated as shown in the figure?

for & g=ifu 312f wferiey g Y i T Ry gifs 7 22

(A) O Fall of potential (Correct Alternative)
fRyas1yaq (Correct Alternative)
(B) O Fall of current

PIC DI HY g

(C) O Rise of current
BT BT TGl

(D) O Current dividing (Chosen Option)
Fe faHTSH (Chosen Option)

Question No. 2 / Question ID 15 Marks: 2.00
What is the name of the tool as shown in the figure?

fomr o fRaTQ TU IUHROT 7 ATH 1 372




www.globaliti.org

(A) O Tack hammer
& TR

(B) O Cross pein hammer
EARRER

(C) O Ball pein hammer (Correct Alternative) (Chosen Option)
'\‘efc’ UiE| %'FR' (Correct Alternative) (Chosen Option)

(D) O Claw hammer

il R

Question No. 3 / Question ID 328 Marks: 2.00
Which type of lighting system is used for flood and industrial lighting?
TS 3R SN U AT & o fohd UHR Bt UhT=T HaRT HT IGANT fohaT ST 82
(A) O Direct lighting (Correct Alternative) (Chosen Option)
Y& UDIRA (Correct Alternative) (Chosen Option)
(B) O Indirect lighting
STHYE UDIRT
(C) O Semi-indirect lighting
3ef-3E FhTRI
(D) © Semi-direct lighting
-G YHT

Question No. 4 / Question ID 57 Marks: 2.00
Which is used to measure the size of the conductor?
HEFER B AMHR AT & (o fhamT ITART foam ST 87
(A) O Standard wire gauge (Correct Alternative)
IR Tl (Correct Alternative)
(B) O Vernier caliper (Chosen Option)
(Chosen Option)
(C) O Bevel gauge
99 TS

(D) O Depth gauge
UIERIE

Question No. 5/ Question ID 75 Marks: 2.00
Which law states that the applied voltage in a closed circuit, is equal to the sum of the voltage drops?

DI 1 T 91T § fb U §¢ Afhe § Ar] dlecs, dlecsl S & TN & SRT6R 872




(A) O Ohm’s law (Chosen Option)
3{Ig1 &1 A9 (Chosen Option) www.globaliti.org
(B) O Laws of resistance
gfeRty & |
(C) O Kirchhoff’s first law
fth T uga g
(D) O Kirchhoff’s second law (Correct Alternative)
B o1 QT frag (Correct Alternative)

Question No. 6 / Question ID 199 Marks: 2.00
How much time is required for a 50 Hz AC supply to complete one cycle?
50 Hz AC TS ! Uh dh QRT HR | fobhaTT THY I 872
(A) O 0.1 second
0.1 second
(B) O 0.45 second (Chosen Option)
0.45 second (Chosen Option)
(C) O 0.02 second (Correct Alternative)
0.02 second (Correct Alternative)

(D) © 0.15 second
0.15 second

Question No. 7 / Question ID 183 Marks: 2.00
What is the main cause for very low lagging power factor in 3 phase system?
3 U5l JUTTeH § 9gd B8 QiHT UTaR thaex &1 I HRUT &1 872
(A) O Reactive power due to more inductive load (Correct Alternative)
3P RSP HR & BRI Ufdfpareiia Afad (Correct Alternative)
(B) O True power due to resistive load
YicRIE HR & DHRUT el Qi
(C) O Due to fluctuation of voltage (Chosen Option)
dicesl & IAR-9GId & HRUT (Chosen Option)
(D) O Reactive power due to more capacitive load

31t yRedla YR & HRUT ufdfshareiia wfdd

Question No. 8 / Question ID 111 Marks: 2.00
What is the voltage drop in resistor ‘R,’ in the series circuit?

IR wfdhe & ufRiy® 'R, § dieesl $17 1 872




(A) O 5 Volt
5 Volt www.globaliti.org
(B) O 20 Volt
20 Volt
(C) O 15 Volt
15 Volt
(D) O 10 Volt (Correct Alternative) (Chosen Option)
10 Volt (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 404 Marks: 2.00
What is the relationship between the primary voltage (E4, V4) and secondary voltage (E,, V5) in a ideal
transformer?

T 3R TAHIR & Ui dieest (B4, V4) 3R fediad aiees (E,, V,) & sta &1 ey 82
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(A) O E4<VjandE, <V, (Chosen Option)
E4 <V4and E; < V5, (Chosen Option)
(B) O E4q=Vj4and E; =V, (Correct Alternative)
E4,=V, and E, =V, (Correct Alternative)
(C)O E4>Vq4andEy >V,
E1 > V1 and E2 > V2
(D) O E1 = V2 and E2 = V»]
E1 = V2 and E2 = V1

Question No. 10 / Question ID 240 Marks: 2.00
How many two way switches alongwith intermediate switch are used to control one lamp from three
different places?

Wé;ﬁmq&m-&WWQﬁﬁmwémmﬁm%aawqmﬁ%awwm
STaT 87
(A) O 1




(B) O 2 (Correct Alternative)
2 (Correct Alternative) www.globaliti.org

€O 4
4

(D) O 3 (Chosen Option)
3 (Chosen Option)

Question No. 11 / Question ID 219 Marks: 2.00
Which is used as a top layer of a solar cell?
IR I D1 MY IR & = H et IuanT farar ot g2
(A) O Silver (Chosen Option)
qrd! (Chosen Option)
(B) O Copper
GIEL
(C) © Aluminium

(D) O Silicon (Correct Alternative)
(Correct Alternative)

Question No. 12 / Question ID 369 Marks: 2.00
Which meter is used to measure the revolution per minute of a motor?

it Miex o1 ufa fire uRepaur ATuR & fore fvg Hex o1 IuanT fvar Sirar 872
(A) O Energy meter
Sl Hie?

(B) O Ampere hour meter
TR ¢ Hiex
(C) O Tachometer (Correct Alternative)
(Correct Alternative)
(D) O Centre zero ammeter (Chosen Option)

I &% THIER (Chosen Option)

Question No. 13 / Question ID 145 Marks: 2.00
What will be the change in value of capacitance if the distance of the plates are decreased in the

capacitor?
gfe e & wiel &1 gl 9 PR af ol af YTRal & A § o1 uRad- g
(A) O Becomes zero
X[ ©l SR
(B) O Decreases
HH BT
(C) O Remains same
FHM BT
(D) O Increases (Correct Alternative) (Chosen Option)
'@l%TIT (Correct Alternative) (Chosen Option)

Question No. 14 / Question ID 68 Marks: 2.00
What is the value of current (1) flowing through the circuit?

uRuy & garfed YR (1) 61 | 1 22




(A) O 3 A(Chosen Option)
3 A (Chosen Option)

(B) O 2 A (Correct Alternative)
2 A (Correct Alternative)

© 0O 1A
1A

(D)O 6A
6A

www.globaliti.org

Question No. 15/ Question ID 366
V\ihich instrument is an example of an integrating instrument?
[ I SUDRT] qm‘“@d SUDRU] D] Udh 3algUl %?
(A) O Tangent galvanometer (Chosen Option)
(Chosen Option)
(B) O Energy meter (Correct Alternative)
Hiex (Correct Alternative)
(C) © DC voltmeter

(D) O AC voltmeter
Tt dlecHiey

Marks: 2.00

Question No. 16 / Question ID 124
What indicates the shape of a BH curve (Hysteresis loop) of material?
IRt & BH % (R T) & 3R 1 GRITdT 82
(A) O Field intensity of the substance
Uerd B & ditd

Marks: 2.00




(B) O Reluctance of the material

gerd &1 Raacd www.globaliti.org
©) O Magnetic properties of the material (Correct Alternative)

tIETQf ﬂ'ﬁﬁﬂﬂ ﬁ"sﬁ'ﬂ?l'l'l'{ (Correct Alternative)

(D) O Pulling power of the magnetic material (Chosen Option)
Jad 1 a1y &t Fiaw &I Wfad (Chosen Option)

Question No. 17 / Question ID 254 Marks: 2.00
What is the expansion of MCB?
MCB T fawdR &1 82
(A) O Miniature Circuit Breaker (Correct Alternative)
Miniature Circuit Breaker (Correct Alternative)
(B) O Maximum Current Breaker
Maximum Current Breaker
(C) O Minute Control Breaker (Chosen Option)
Minute Control Breaker (Chosen Option)

(D) O Minimum Current Breaker
Minimum Current Breaker

Question No. 18 / Question ID 155 Marks: 2.00
What is the formula to calculate the three phase power (P) if the line voltage is (V| ), line currentis (I )
and phase angle is (‘'0’)?

e g Aleedl (V)) B, AIS URT (1) § 3R el W (‘9) &, a1 3t el UiaR (P) &Y 0T R T T T 872
(A) O P=./3V_I_Cos 8|(Correct Alternative)

P=.3V_I_cos 8[(Correct Alternative)

B)O p- 43V, 1, Sin8 (Chosen Option)
P=.f3V 1 Sin8 (Chosen Option)
(C)O P=3V, I Cos8
P=3 V|_ ||_ Cosb6
(D) O P=3 V|_ ||_ SinB
P=3V, I_Sin®

Question No. 19 / Question ID 180 Marks: 2.00
What relationship is illustrated in the figure between the current and voltage wave?

o A 9RT IR diees R & &g 1 oy <2 71 82




www.globaliti.org

(A) O Current lags behind the voltage
YR, diecs & YT 3Gt ©

(B) O Current leads ahead of the voltage
YR, dieco & 3 |l ©

(C) O Current and voltage are “in phase” (Correct Alternative)
YRT Ud diees IHHE Har d % (Correct Alternative)

(D) O Current and voltage are in out of phase (Chosen Option)

YRT Td dlees el H 781 § (Chosen Option)

Question No. 20 / Question ID 370 Marks: 2.00
Where the recording instrument is used?
RIS IUBHRUI HT ITANT Hg! fovam ar 82
(A) O To measure the quantity
HEAT A0 & oy
(B) O To indicate the quantity
AT 3T DA & oy
(C) O To register the quantity (Correct Alternative) (Chosen Option)
HHAT Eﬁf PP ﬁ'l'l! (Correct Alternative) (Chosen Option)
(D) O To display the quantity

AT USRI B4 & fag

Question No. 21 / Question ID 440 Marks: 2.00
Which is the indication of a moisture contained transformer oil is placed in the crackle test?

Shehd TRIGUN H T o AR o &1 - 41 Hobd QAT STl 872




(A) O Acrackle sound is heard (Correct Alternative) (Chosen Option)
Udh FHY G 13=n€ ot % (Correct Alternative) (Chosen Option)
(B) © A humming noise is heard
TS TAATEC &1 3MTaTSl TS ol §
(C) O Asizzle noise is heard
T O SMaTS TS ol §

(D) O Aflash over occurs

TP FI 3aR gfed gial &

www.globaliti.org

Question No. 22 / Question ID 305

Where the service mains are to be connected in the domestic installation?
IuHIaT 3 &1 | a1 GaIo SMYfdd forg w9 St 8t 82
(A) O Main switch

T g
(B) O Energy meter (Correct Alternative)

(Correct Alternative)
(C) O IC cut out
hc 33

(D) O Distribution board (Chosen Option)

IEGRUKIS (Chosen Option)

Marks: 2.00

Question No. 23 / Question ID 272
What is the type of wiring as shown in the figure?

fory o Iy 3R arafaT &1 ysR T 82

Marks: 2.00




(A) O PVC casing and capping wiring (Chosen Option)
PVC HRIT 3R it arafe (Chosen Option)
(B) O Cleat wiring (Correct Alternative)
Felle arafeT (Correct Alternative)
(C) O PVC conduit wiring
PVC H&]c arIRT
(D) O CTS wiring
CTS arafT

www.globaliti.org

Question No. 24 / Question ID 59
Which type of joint is used for extending the length of conductor in over head lines?
R BS A3 | hedex &l daTs ggM & Y fhT UBR & Sig o1 IuTNT fHar Srar g2
(A) O Britannia “T” joint
T iige
(B) O Western Union joint (Correct Alternative)
I qﬁnﬂ \_rl"llg'c’ (Correct Alternative)

Marks: 2.00




(C) O Scarfed joint (Chosen Option)

SIgc (Chosen Option) www.globaliti.org
(D) O Aerial tap joint
cu ST
Question No. 25 / Question ID 65 Marks: 2.00

What is the disadvantage of solid conductor compared to stranded conductor?
WIT HSIR B a1 H 3 Hsaex &1 THUH FT 82
(A) O Less flexibility (Correct Alternative)
HH THIAT (Correct Alternative)
(B) O Low melting point
CRRINEICT
(C) O Low mechanical strength (Chosen Option)
%4 Tife i (Chosen Option)
(D) O Less rigidity
hH

Question No. 26 / Question ID 208 Marks: 2.00
What does the letter ‘Z’ indicate in the formula M=2Z | t?
A M=Z | t ¥ 31&R 'Z' T I 872
(A) O E.C.E of electrolyte (Correct Alternative) (Chosen Option)
ﬁ?.fﬁa QY] hT ECE (Correct Alternative) (Chosen Option)
(B) O Amount of current in Amp
YRT, TR |
(C) O Time in seconds
Y, Yobs |
(D) O Mass deposited in grams
UhTAd g, a9

Question No. 27 / Question ID 405 Marks: 2.00
What is the function of conservator tank in a transformer?
TRBTER § FHolder ¢ o o1 B g2
(A) O Transfers the heat to atmosphere
JrgHeSd H ST P MR HRal §
(B) O Allows expansion of oil level due to load variation (Correct Alternative) (Chosen Option)
s fHaar & #RUl dd wWR & fawr ot Glﬂ'qﬁ aar % (Correct Alternative) (Chosen Option)
(C) O Allows to release internal pressure
3Rk gaTd B HT A a1 8

(D) O Prevents the moisture entry

TH & U Bl Aebell &

Question No. 28 / Question ID 195 Marks: 2.00
When the neutral current is zero in 3 phase system?

3 Bol WUl & <ged hic YT e gidl 87
A)O 3 phase commerC|aI load
3 ol IR IBrR Q'1I5
(B) O 3 phase domestic load (Chosen Option)
3 Tl ‘Eﬁﬁ?ﬁ‘s’ (Chosen Option)




(C) O Balanced star system (Correct Alternative)

Hgferd IR YU (Correct Alternative) www.globaliti.org
(D) O Unbalanced star system
3 ferd TR WuTe!
Question No. 29 / Question ID 400 Marks: 2.00

Which material is used as heat insulator in between the outer casing and inner tank of a geyser?
TfIoR & SRR SHTARUT 3R 3ARE ¢ & oI ST JAYH & =0 H g JHRR &1 SUANT fha1 Sl 82
(A) O Glass wool (Correct Alternative) (Chosen Option)

T & (Correct Alternative) (Chosen Option)
(B) O Paper

TR
(C) O PVC

PVC

(D) O Plastic
WResh

Question No. 30 / Question ID 109 Marks: 2.00
Calculate the value of resistance by colour coding method.

T Fe 3l & gR1 UfcRiYy &1 3 §d18t




(A) O 23 x 10*+ 10% (Chosen Option)
23 x 10* + 10% (Chosen Option)
(B) O 36x10%+5%
36 x 10% + 5%
(C) O 25x 103 £ 5% (Correct Alternative)
25 x 103 * 5% (Correct Alternative)
(D) O 22x10%+10%
22 x 103 £ 10%

www.globaliti.org

Question No. 31/ Question ID 76

What is the formula for the equivalent resistance (Ry) of the three resistors R4, Ry & R3 are connected in

parallel?

TR H 8 I UfRig®! Ry, R, 3R Ry & JATe™ UfoRIY (Ry) T G T 87

(A)O Rr=Ry{+Rz+Rj
RT=R1+R2+R3

B O p._ ! |
1.1 1 (Chosen Option)
RRCR
Ry o .
1,1 .1 (Chosen Option)
R R, R
©O0 [, 1.1 1

T= R_+E+R_ (Correct Alternative)

Marks: 2.00

T R, ' Ry E (Correct Alternative)
DO o 1
=
R+ +hg
1
o=
.
iy
Question No. 32 / Question ID 346 Marks: 2.00
Why the outei tube of a high pressure metal halide lamp made of boro silicate glass?
3 34 YT 3aISS AU B! J18<) ed ARl Rifdidre T ¥ &1 gl 872
(A) O Reduce the ultra violet radiation from lamp (Correct Alternative)
AT F WRTST fafhvur Y FH B (Correct Alternative)
(B) O Increase the lighting effect
UHIRI YHIT delY
(C) O Withstand atmospheric pressure
JgHSAT Gad Pl Fgq HY
(D) O Withstand heavy temperature (Chosen Option)
YRI AT9HH &1 &= HX (Chosen Option)
Question No. 33 / Question ID 22 Marks: 2.00

Which artificial respiration method is to be performed to the victim with injuries on the chest and belly?

BT 3R U W die T R WIS 1 T 499 3t S 9t Al o= s =nfgu?

(A) O Nelson’s arm-lift back pressure method

Y - b IR fafdy




(B) O Schafer’s method
QIR fafey www.globaliti.org
(C) O Mouth to mouth method (Correct Alternative)
133 I HE»’ fafy (Correct Alternative)
(D) O Holger - Nelson’s back pressure method (Chosen Option)
A $1 Uts gad fafyl (Chosen Option)

Question No. 34 / Question ID 82 Marks: 2.00
Which is an application of the series circuit?
RIS Ffdhe BT 1 ITART g2
(A) O Multiplier resistor of a voltmeter (Correct Alternative)
diecHier T I IWRR UfaRiy (Correct Alternative)
(B) © Shunt resistor in ammeter
THIER H e IR
(C) O Lighting circuits in home
WH
(D) O Voltmeter connection (Chosen Option)
CEENE] (Chosen Option)

Question No. 35/ Question ID 277 Marks: 2.00
What is the megger reading in a dead short wiring installation?
€ Y IR SETATH § AR 91 U 81 87
(A) O Infinity (Chosen Option)

Infinity (Chosen Option)
(B) O 500 MQ
500 MW
(C) O 0 MQ (Correct Alternative)
0 MW (Correct Alternative)
(D) O 1MQ
1 MW

Question No. 36 / Question ID 383 Marks: 2.00
What is the name of the part of electric iron as shown in the figure?

fomr o feaTe SR fagyd S%il & HFT &1 1 914 g2

(A) O Sole plate (Correct Alternative)
| wWie (Correct Alternative)

(B) O Asbestos sheet (Chosen Option)
TRy ¥iie (Chosen Option)

(C) O Pressure plate
EICAN

(D) O Mica insulation

HYP PP




Question No. 37 / Question ID 241 Marks
What is the advantage of the concealed wiring?
FUt g3 IR &1 1 BTIeT 82
(A) O High insulation resistance
I AT YRy
(B) O Protection against moisture (Correct Alternative) (Chosen Option)
9 g YRET (Correct Alternative) (Chosen Option)
(C) O Less voltage drop
®H dlecs UTd

(D) O Easy to maintain
U §

gFoqaaIltl org

Question No. 38 / Question ID 207 Marks: 2.00
What is the Electro Chemical Equivalent (ECE) of silver?
atdl &1 faggd IumfRE Jeaid w1 ]2
(A) O 1.1182 mg/coulomb (Correct Alternative)
1.1182 mg/coulomb (Correct Alternative)

(B) O 0.001182 mg/coulomb
0.001182 mg/coulomb

(C) O 0.1182 mg/coulomb (Chosen Option)
0.1182 mg/coulomb (Chosen Option)

(D) O 0.01182 mg/coulomb
0.01182 mg/coulomb

2) WORKSHOP CALCULATION SCIENCE

Question No. 1 / Question ID 460 Marks: 2.00
Which is example for third order lever?
T 3HTER AR BT DHIH-H1 IETERT 82
(A) O A pair of scissors
o BT TH WR

B) O Common balance (Chosen Option)
HIHF SAg (Chosen Option)

(C) O Lime squeezer
NIERESEINN

(D) O Forceps (Correct Alternative)
BRI (Correct Alternative)

Question No. 2 / Question ID 453 Marks: 2.00
What is the S.| unit of heat?
S 1 TH.3MTS. ShIg T 82
(A) O British thermal unit
British thermal unit
(B) O Centigrade heat unit
Centigrade heat unit
(C) O Calorie
Calorie

(D) O Joule (Correct Alternative) (Chosen Option)
Joule (Correct Alternative) (Chosen Option)

Question No. 3/ Question ID 451 Marks: 2.00




What is termed as the quantity of matter contained in a body?

ag o fAfed gard &) A & o el T 82

(A) O Mass (Correct Alternative) (Chosen Option)
QIHT (Correct Alternative) (Chosen Option)

(B) O Density

www.globaliti.org

Identify the name of instrument?

o 7 fezame U IuSRN & T1H B UgAH HI?

Ydd
(C) O Volume
HIdq
(D) O Specific gravity
fafry To@
Question No. 4 / Question ID 459 Marks: 2.00
Which is example for second order lever?
fadia 3SR TR BT HIH-TT ITE0T 872
(A) O Apair of scissors (Chosen Option)
h[ Udh TR (Chosen Option)
(B) O Human forearm
T BR3TH
(C) O Common balance
CAEECK]
(D) O Bottle opener (Correct Alternative)
(Correct Alternative)
Question No. 5/ Question ID 444 Marks: 2.00
What denotes letter 'M' in MKS system?
MKS Tl & 'M' 31&R 1 &=1TdT 872
(A) O Micron
Micron
(B) O Millimeter
Millimeter
(C) O Meter (Correct Alternative) (Chosen Option)
Meter (Correct Alternative) (Chosen Option)
(D) O Mile
Mile
Question No. 6 / Question ID 456 Marks: 2.00
What is the side of a square whose area is 625mm?2?
TH aFf B YT 1 81T, ForaahT &wd 625 frdi2 82
(A) O 30 mm
30 mm
(B) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)
(C)O 15mm
15 mm
(D) O 20 mm
20 mm
3) ENGINEERING DRAWING
Question No. 1/ Question ID 464 Marks: 2.00




(A) O French curve
ARG

(B) O Protractor (Correct Alternative) (Chosen Option)
gl (Correct Alternative) (Chosen Option)

(C) O 'T'square
& WRR

(D) O Setsquare

www.globaliti.org

Question No. 2 / Question ID 477
Identify the name of tool?
JUHU BT A1 TgarH?

Marks: 2.00




(A) O Mallet (Correct Alternative) (Chosen Option)
m Cd) 'E'QﬁST (Correct Alternative) (Chosen Option)
(B) O Staright pein hammer
e UH e
(C) O Ball pein hammer
S 9 g R
(D) O Cross pein hammer

P U 3R

www.globaliti.org

Question No. 3 / Question ID 469
Identify the conventional symbol of material?

Y & URURS Udieh Dl UgaH?

Marks: 2.00




(A) O Steel (Chosen Option)

UWId (Chosen Option)
(B) O Concrete

Tiita sriceH

(C) O Glass (Correct Alternative)
®id (Correct Alternative)
(D) O Wood
e

www.globaliti.org

Question No. 4 / Question ID 484
Identify the line 'b'?
NIEGR AR REIEY:

Marks: 2.00




(A) O Leader line (Chosen Option)
drex drsd (Chosen Option)

(B) O Extension line
ICESIIRGASIER]

(C) O Dimension line (Correct Alternative)
S(TATH T (Correct Alternative)

(D) O Termination of dimension line

STATH YT Bt JHIGT

www.globaliti.org

Question No. 5/ Question ID 476
Identify the name of tool?
JUGH BT A1 TgaH?

Marks: 2.00




(A) O Cutting plier (Correct Alternative) (Chosen Option)
PTe qrem TR (Correct Alternative) (Chosen Option)
(B) O Double cutting shear

S9d Hle B
(C) O Hawk-billed shear
giop-fod 2R
(D) O Aviation shear
I HRAL

www.globaliti.org

Question No. 6 / Question ID 463
|dentify the conventional symbol of material?

oz A fewme U gl &% uRues Udie 1 Udl a?

Marks: 2.00




www.globaliti.org

(A) O Lead
S5

(B) O Glass
CIE]
(C) O Paper
DITSI
(D) O Wood (Correct Alternative) (Chosen Option)
51 (Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 504 Marks: 2.00

Choose the correct punctuation mark after the word “Rohan” in the given sentence. “Rohan David and
Ram are playing hide and seek”

QU 7T gt ¥ eq "RUg" & d1q gl fav™ g T 1“Rohan David and Ram are playing hide and seek”
(A) O Slash (/)

A (/)
(B) O Period ()

3afer ()
(C) O Comma (,) (Correct Alternative) (Chosen Option)

(,) (Correct Alternative) (Chosen Option)

(D) O Hyphen (-)

BIRWH ()

Question No. 2 / Question ID 632 Marks: 2.00
The expansion of LAN is

"LAN" T AR & -




(A) O Local Area Network (Correct Alternative) (Chosen Option)
Local Area Network (Correct Alternative) (Chosen Option)

(B) O Logical Area Network
Logical Area Network

(C) O Legal Area Network
Legal Area Network

(D) O Local Area Name
Local Area Name

www.globaliti.org

Question No. 3 / Question ID 692

It is also important to pay attention to customer's when probing.
S dRd IHG A6H & R & &1 1 Agayuf g
(A) O Dreams

o
(B) O Friends

e
(C) O Personal needs (Chosen Option)

HGdITd SI%exd (Chosen Option)
(D) O Body language (Correct Alternative)

CARTIL| (Correct Alternative)

Marks: 2.00

Question No. 4 / Question ID 680
Which one is a correct channel through which marketers can reach customers?

DI 1 U gl 9 ¢ foridh ATeqH 3 SINIR T8 b Ugd Aol 872

(A) O Manufacturer — Retailer — Customer (Correct Alternative)
Manufacturer — Retailer — Customer (Correct Alternative)

(B) O Manufacturer — Customer — Retailer
Manufacturer — Customer — Retailer

(C) O Manufacturer — Retailer — Customer — Wholesaler
Manufacturer — Retailer — Customer — Wholesaler

(D) O Manufacture— Retailer — Wholesaler — Customer (Chosen Option)
Manufacture— Retailer — Wholesaler — Customer (Chosen Option)

Marks: 2.00

Question No. 5/ Question ID 579
Noise, physical discomfort of hotness or coldness comes under

R, T a1 1 areht IR srgsan & SfcHid 3Tl 8
(A) O environment barrier (Correct Alternative)
dTT (Correct Alternative)
(B) O culture barrier (Chosen Option)
hedX dIYT (Chosen Option)
(C) O language barrier
HINT 1 ST
(D) O perception barrier
TeYT

Marks: 2.00

Question No. 6 / Question ID 546
The word 'when' denotes
sg ‘when (S19) I -1 §
(A) O time (Correct Alternative) (Chosen Option)
HHY (Correct Alternative) (Chosen Option)

Marks: 2.00




(B) O place
R www.globaliti.org

(C) O person
EES)

(D) O thing

Question No. 7 / Question ID 699 Marks: 2.00
What does 'M' stand for in SMART goal?
SMART @& & 'M' &1 1 31 82
(A) O Manageable
Manageable
(B) O Measurable (Correct Alternative) (Chosen Option)
Measurable (Correct Alternative) (Chosen Option)
(C) O Meaningful
Meaningful

(D) © Memorable
Memorable

Question No. 8 / Question ID 499 Marks: 2.00
Time management

(A) O hard skill
CARE AR

(B) O managing time
U 0y
(C) O complete your task on time (Correct Alternative) (Chosen Option)
YT BT THY R T Gy (Correct Alternative) (Chosen Option)
(D) O problem solving

BERIGIRSGEIE

Question No. 9 / Question ID 525 Marks: 2.00
When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use

SIS 31U TR1ere, UiRiere a1 Wided o S SBTRAT BT TG $HRd &, l SHTIDI @1
JUIRT DT AT
(A) O Hey
Hey
(B) O Hi
Hi
(C) O Hello (Chosen Option)
Hello (Chosen Option)

(D) O Good morning (Correct Alternative)
Good morning (Correct Alternative)

Question No. 10 / Question ID 492 Marks: 2.00
is a brief statement about purpose and principles of the Constitution.
..... Tf3e™ & Iy 3R Rrgidl & IR H it fgaror 81
(A) O Module
HIUTh
(B) O Unit

ECIH




(C) O Syllabus

UTadsh H www.globaliti.org
(D) O The Preamble (Correct Alternative) (Chosen Option)

YXATA-T (Correct Alternative) (Chosen Option)

Question No. 11 / Question ID 636 Marks: 2.00
What does ‘ASAP’ stand for, in SMS language?
THUHTY YT & "ASAP" &1 F1 3 § 2
(A) O As Soon As Probable
As Soon As Probable
(B) O As Silent As Probable (Chosen Option)
As Silent As Probable (Chosen Option)
(C) O As Soon As Possible (Correct Alternative)
As Soon As Possible (Correct Alternative)

(D) O As Simple As Possible
As Simple As Possible

Question No. 12 / Question ID 599 Marks: 2.00
When you send your resume through email, you are sending it in the form of .

S Y (U SRVSTET SHA & AT J Aold g, df 37 39 FETH AT WA &
(A) O drive

SIEL]
(B) O marked text

fafgd coe
(C) O attachment (Correct Alternative) (Chosen Option)
[T (Correct Alternative) (Chosen Option)
(D) O cookie advertisement

EENCEIEE!

Question No. 13 / Question ID 626 Marks: 2.00
In MS Excel, collection of work sheet is known as

THUY TRIA H, 9 M HIUG Bl ... S H IS |
(A) O worksheet

(B) O excel book (Chosen Option)

E@HW (Chosen Option)
(C) O sheet work
e g

(D) O workbook (Correct Alternative)
W (Correct Alternative)

Question No. 14 / Question ID 586 Marks: 2.00
Which one is a Do’s in interview etiquette?
R Ufedhe # Do's FT1 82
(A) O Too excessive in gesture
qgd el IR HRAT
(B) O Be confident (Correct Alternative) (Chosen Option)
1 ¢ BT (Correct Alternative) (Chosen Option)

(C) O Lie about abilities to get job
THt U & fog earsit & IR § g3 Sie




(D) O Dress too casually
1G] H3Hd TS Yga-T

www.globaliti.org

Question No. 15/ Question ID 560
Which of these is the full form of SWOT?
T8 ¥ ®IF SWOT &1 IUf &1 g2
(A) O Special Wellness Organization Theme (Chosen Option)
Special Wellness Organization Theme (Chosen Option)
(B) O Strong World Olympic Team
Strong World Olympic Team
(C) O Strength Weakness Opportunity Threat (Correct Alternative)
Strength Weakness Opportunity Threat (Correct Alternative)
(D) O Speak Work Openly Together
Speak Work Openly Together

Marks: 2.00

Question No. 16 / Question ID 611
Debit card will have how many digit numbers

Sfoe 1S & fovar 3o & S gt |

(A) O 12
12

(B) O 16 (Correct Alternative) (Chosen Option)
16 (Correct Alternative) (Chosen Option)

(€O 14
14

(D)YO 18
18

Marks: 2.00

Question No. 17 / Question ID 615
1 Byte =
1dlgc =............

(A) O 2bits
2 focy
(B) O 16 bits (Chosen Option)
16 ﬁﬁﬂ (Chosen Option)
(C) O 8 bits (Correct Alternative)
8 ﬁ'E’H (Correct Alternative)
(D) O 4 bits
4 facq

Marks: 2.00

Question No. 18 / Question ID 531
Which one is in active voice?
Ifshg 3Tars & B 1 87
(A) O The book was being read by her.
The book was being read by her.

(B) O We were driven home by dad.
We were driven home by dad.

(C) O Ram has passed the exam. (Correct Alternative) (Chosen Option)
Ram has passed the exam. (Correct Alternative) (Chosen Option)

(D) O The ball was caught by him.
The ball was caught by him.

Marks: 2.00




Question No. 19 / Question ID 604 Marks: ?O%)aliti or
Gender stereotypes can be www.g -org

o wfeafear gt g ... |
(A) O harmful and hurtful (Correct Alternative) (Chosen Option)

Gﬁ'\'@aﬂﬂ (Correct Alternative) (Chosen Option)

(B) O cheerful

KCRl
(C) O personality development

(D) O playful
EEN]

Question No. 20 / Question ID 567 Marks: 2.00
Choose the correct context of the given expression in group discussion. "Excuse me, | would
gq%am:rﬁ%qnu W’-@%Wﬂ?}[ﬁ—c{?—fﬂﬁl. "Excuse me, | would "

(A) O Emphasizing a point (Chosen Option)
Emphasizing a point (Chosen Option)

(B) © Summarizing
Summarising

(C) O Interrupting (Correct Alternative)
Interrupting (Correct Alternative)

(D) O Agreeing
Agreeing

Question No. 21 / Question ID 642 Marks: 2.00
What is the default name of newly created folder in windows?

faeel & 99T 7T U e &1 fehice A8 &1 gldT 82
A) O Blgnk

(B) O Folder
Bty

(C) O New folder (Correct Alternative) (Chosen Option)
quﬁ@ (Correct Alternative) (Chosen Option)
(D) O New
aq

Question No. 22 / Question ID 679 Marks: 2.00
Which investment is considered for deciding the status of manufacturing enterprises?

fafmfor Ieml @) TG 7a B & o feg faw v foer faar Srar g2
(A) O Working capital
HIoRa g

(B) O Plant and machinery (Correct Alternative) (Chosen Option)
T4 Y7 (Correct Alternative) (Chosen Option)
(C) O Salary of employees
GIICRE
(D) O Building and land
Yaq

Question No. 23 / Question ID 664 Marks: 2.00




Which among the following is not an Online payment application?
fafoRed & 9 & Ue SfiFars YidH 3H1ae el 87
(A) O Google Pay

T
(B) O Instagram (Correct Alternative)

S (Correct Alternative)
(C) O Banking Applications (Chosen Option)

‘ (Chosen Option)

(D) O BHIM UPI
BHIM UPI

www.globaliti.org

Question No. 24 / Question ID 547
Rahul enjoys with his pet dog.
g DI 3T UTad ol & 1Y o ol ST B |
(A) O writing
fere

(B) O playing (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(C) O doing
DA

(D) O washing

Marks: 2.00

Question No. 25 / Question ID 489
Jobs that have become outdated in the past 5 years

......... Bt o e 5 a8f & QR 8 S 6

(A) O swiggy
Swiggy
(B) O STD booth (Correct Alternative)

STD gY (Correct Alternative)
(C) O uber

(D) O ola (Chosen Option)
3T (Chosen Option)

Marks: 2.00




